-4-
LGS -
17. (o) A(2, —3) erarm ysmefl suflGasougin C(—5, 1) —6mil EMOWLOTSH D
Qamenor. e L SH6T FLOGITLITL L9 6060TS SHITET0TE.
(@) x*+y*=400 wdgd x*+y?—10x—24y+120=0  eretrm
UL L Mg esremmGlumery Gsm (& Gameremn ster Hem.
@ 6x*+13xy+6y*+8x+7y+2=0 eetm swsTUTH @ @I smL
Cristar oL @Mssng sar Hemd.
18. (8) &G ABC -mmLw o sdsaflsr Hontausisdt wonGu 27 -7 + k,
T-37-5k wpmb 3T -4 -4k oew.  GiwsCsremmn
QemiGsmemnd srer fleml.
(@ @T=2T+7+3k wigh b =T -47 -6k aafls, b e @
-6t ofipsns smes.  Gugnd @ wHmId b Qlsus L& Em&SlemL_Giu
2 siTem CoTauSmes Sres.
@ 3T+57 -2k whghd 2T +37° -5k QL& @\m efNmEsEmD 6
gismer (1, 2, —1) ererm ysreflullsdlmia (5, —3, 4) ereorm ustafl &S
@Li Guurs GewsT, aflmasst Cals CQurss Comasmus sTeams.
19. (9) 3T -37+2K whmh 4T —27"+ % 28U @6 GusLisenée
Qem@sSsTs omuLD QTG OasLmTe  STars. GLogyitd
@eutleusLT&EERSE @G 2 sTar snaer (Sine) Comamdmes smas.
(@) 6T +7 — Kk sy eflews (0, 1, —1) eraqud usirefl auflé QewsdLigsi
(4, 3, —1) sramud ysreflemwts Qurmisg HmULSSmeT Srers.
@ T=4T+7-k, b=2T+27-k whmgp T =-3T+27-k
gTeoflen, @ X (Fx?") —06 SIS .
20. (9) wHWI@s: (i) [(x + 1) (x + 2)dx (i) [ cos® x dx
(=) (ii) [ tan® x sec? x dx
. dx
(@) Lﬂﬁuﬁl@& (i) f64 x2 (i) f\KBG—(5x+1)2
21. () wsud@s: (i) [xsin5x dx (i) [ xlogx dx
(=) wHIIGs: (i) [ x% cos 2x dx (ii) [ x%e~**dx
@) wHiEs: fn tan x sec? x dx
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14.

15;

16.

. Evaluate: [
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[N.B:- (1) Answer any FIVE questions in each of PART-A & PART-B and any two
divisions of each question in PART-C.

(2) Each question carries 2(two) marks in PART-A, 3(three) marks in PART-B and
5(five) marks for each division in PART-C.]

PART - A

. Write down the formula for finding the center and radius of the circle

x2+y2+2g9x+2fy+c=0

. Define conic.
M @=2T47+k and b =T-7 45k ,find 2@ +3b

. Prove that the vectors a"=4T’—27—6? and F=2T‘—T—3F are

parallel.

. Evaluate: [ sec2 S5x dx

9+x2

. Evaluate: [x sinxdx

. Evaluate: [](4x —5x%)dx

PART - B

Show that the equation 4x% + 10xy + y?2 —2x+5y—3 =0 represents
a hyperbola.

Find the projectionof 27T°+7 -2k on T -27° -2k
Find the area of the parallelogram, whose adjacent sides are
T+7+3%kand 2T +T +2k

Find 'the value of 'm’, if the vectors 27°- 7"+ k, T + 27 -3 k_
and 37T +m7 +5 k are coplanar.

2
Evaluate: | :f; n’;

Evaluate: [ J;;f_?l_«

Evaluate: [xe %*dx

Evaluate:

11
Ja = dx

185/559—1 [Turn over...



17.' (a)
(b)

(c)
18. (a)

(b)

(c)

19. (a)

(b)

(c)

20. (a)
(b)

(c)

21. (a)
(b)

(c)

185/559—2

D

PART - C

Find the equation of the circle passing through the point
A(2, —3) and having its center at C(-5, 1)

Prove that the circles  x%+y? =400 and
x% 4+ y% —10x — 24y + 120 = 0 touch each other.

Prove that the equation 6x?+13xy+6y?+8x+7y+2=0

represents a pair of straight lines.

The position vectors of the vertices of a AABC are2T-7 + k,
T —-37-5k and 3T —47 —4k respectively. Prove that the
triangle is right angled.

of @ on b. Also find the angle between the vectors @ and b

If two forces 3T°+57 -2k and 27°+37 -5k displaces a
particle from the point (1, 2, —1) to the point (5, =3, 4), find
the total work done by the forces. #

Find the unit vector perpendicular to each of the vectors

37-37"+2k and 47T -27°+ k. Also find the sine angle
between the vectors.

Find the moment about the point (4, 3, —1) of the force
represented by 67"+ 7" — k acting through the point 0, 1, -1)

AT+7-k, b=2T4+27-%k and T =-3T427-%,

Evaluate: (i) [(x + 1)(x + 2)dx (ii) [ cos® x dx

Evaluate: (i) f 1in dx (ii) [ tan5 x sec? x dx
Evaluate: (i) =22 ] e A

: 64—x2 V36-(5x+1)2
Evaluate: (i) [ xsin5x dx (i) [ xlogx dx
Evaluate: (i) [ x2 cos 2x dx (i) [ x%e 3% dx

Evaluate: [* " tan x sec? x dx

If @=27+7+3k and b =T -47 -6k, find the projection
a

«Ba
Sp ang end
[eduy : () ued-o oD LESH-, wdu galars LESHIOBHs gCsaID

org elamasErs@L LHDWL UGH-G—-1lo et alerrelemBs]
gCsaib G Uflasersen el _wellssab.

(@) palan®m elamraw uGH-o-sled 2@reu(®) L LTSS, LGH-
a0 3(aperl) WHUCLISTSET WHMID LGS —G-uled galtaurm Uflawd
5(mrsa1) wHUCUsrseT QUMID.]

y@.@;‘ﬂi

1 x2+y*+2gx+2fy+c=0 aemm eu'LSeir smiowid LOmID  QLTD  STEmih
(S SSTRIGEMET T(L)SIS.

2. GUEHTIIMI. SnlDL| 6UEMETEY.
3. T=2T+T +k LML ?=T—T’+ 5k eteofled, 2@ +3b & SIS,

4. =471 — 2}"—6? LoMmmILD b = 2T’~T*3F QS GCleusLjaer
Elememriumsmemey sTeur [Flersul,

5. wdN@s: [ sec? Sxdx
6. LHIN@E: [ -

9+x2
7. vdid@ps: [ x sinx dx

8. LHIAGS: [, (4x — 5x2)dx

uGE- o

9. 4x?+ 10xy +y2—2x+5y—-3=0 6T6TM) FLosorum(p) R
STEMMUSSS GSNSELD 6Tas SM_(Hs.

10. T =272k —ar Bg 2T+ -2k —6 afipemevs Smetors;.

11. m Qlwewrsrsdsr IW55068 usshmSST T+ +3 k. LoMmILD
2T +7 +2 k ereflen, EimemrarsSlsr LTLameTs sreTs.

12, gr-T4+%k, T 2700 % opms 37T +m 7T +5 k| Iy Sluemel
SGlauGLT&6T staufld, 'm’ —6ir oSy Srevors.

13. wEIIES: [<5% dx

1-sinx

2x-1

4. wdiips: [ —dx

15.  wHONRS: [ xe 2 dx

6. wHIGS: [

1

dx

1-x2

[Smiys...
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